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Is this Group for Examiner? : No
Botany

SectionId: 81356132

Section Number : 1
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Number of Questions : 40

Section Marks : 40

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required?: Yes

Question Number : 1 Question Id : 8135611601 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Cilium and Flagellum emerge from centriole like structures called

39gen T STered Not)aIrSer God 2ol &3S VHT oW

Options:
Plasma membrane

7, 1 g g

Basal bodies

5 o e35°0 SEISeD

Radial bodies

.T*?Sa"cs B3%en
3, % ?
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Axoneme

c_9§6 3353

4, %

Question Number : 2 Question Id : 8135611602 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following

Transgenic Plant Resistant to
a. Potato 1. Herbicide tolerant
b. Tomato 1. Phytophthora
c. Basmatirice 1. Pseudomonas
d. Round up ready soya bean iv.  Biotic, abiotic stress

S0AT AN RSDGVEWD

ErOyEVE k), DB LS
A, LMY (oD L RIS S8 HeEaw
b. &°0es° i, 5o
c. erR)d I8 . APEACTR
d. ol 0D 3¢ Jasr DD v, &3, A Hdwerw

Options:

i o @—i); b—ilt), (c—iv), (d—1)
, « (@=1), (b—ii), (c—iii), (d—iv)

, x (@—ib), (b—iii), (c—1), (d—iv)
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4« @—1), (b—ii), (c—iv), (d—iii)

Question Number : 3 Question Id : 8135611603 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Epipetalous and syngenesiuos stamen occurs in

SDOEE" DOVBo B0BAK HUES Doakwg ST

Options:
Solanaceae
Brassicaceae

9 ]

5.4 A AN lev oy

Fabaceae
a

3, % TER
Asteraceae
920~

4.« =

5" ot

Question Number : 4 Question Id : 8135611604 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Functional xylem of dicot tree 1s

ALY D2 JyTOS” S0 d) § TR B
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Options:
Spring wood
oS A

Sap wood
, o 6 THD

Autumn wood

, v O

Heart wood
| @oég‘d)@
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Question Number : 5 Question Id : 8135611605 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the parts labelled 1.2.3.4 in the given figure

So8 DS 1,2,3,4 0 MBotdod:

Options:
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1. Sheath

o 1 S

1. Head
5 % 1. S

1. Collar

3 % l.s"00

1. Tail fiber
. 1.88 b

2. Head
2. S

]

9 |

. Sheath
5 fohle )

. Tail fiber

2. 88 Do

Collar

. 500

L]

LS

LY

'JJ

=
>

-
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. Tail fiber
.88 D

. Tail fiber

.98 %0

. Sheath
S O

. Sheath

. S

4. Collar
4. 5706

4. Collar

4. s*0b

4. Head
4. e

4. Head
4. S

Question Number : 6 Question Id : 8135611606 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Chondriosome was discovered by

$P0G0Ird' R LA STV O

Options:
Benda
1.« ol

Sutton

2 xS

Tatum
3 % EPOD
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Question Number : 7 Question Id : 8135611607 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Select the correct steps involved in amplification of gene

BYAEISEE 2R0[DES” DB oD BV do:
Options:
Denaturation- Annealing — Extension- Amplification

| e5ErDscero - Bohi-Tdoy ~ Byrbeiscmo

Annealing -Denaturation- Extension- Amplification

, « O Do -DErdEcioe ~Tého) — BYHBECHo

Amplification -Denaturation- Annealing - Extension

.y BSedsomo - DIGErdSdee -dD) Doh-TéAeD

Extension- Amplification Annealing —Denaturation

4w TeBoRy- AgeiEseo - D) Bofs -DErDLsto

Question Number : 8 Question Id : 8135611608 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Z- scheme 1s connected with

BE- ), B3 2oL0RoDIB?
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Options:
C4 pathway
1 % C, D850

C3; Pathway
C, D&

Cyclic photophosphorylation

5 i S0P STod FFPTRD

Non cyclic photophosphorylation

o OBS0% SToB FFBTRD

Question Number : 9 Question Id : 8135611609 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following is the first step for genetically modifying an organism?

& S08 TS 200836 2 Fo D6 0068 Doe?

Options:
Amplification of the desired gene
TR0 28] BYDESE0

1. %

Identification of DNA with desirable gene

, o ToBI0D 200D 2A04DE Er¢Dd DNA & fBowicio

Introduction of the DNA into the host
2 % o3BG VS DNA & HD% Do
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Maintenance of mntroduced DNA 1in the host
eABONS” DOF DD DNA Joiren

4, ®

Question Number : 10 Question Id : 8135611610 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Yeast cell can progress through the cell cycle in about

EEDBRD (0" & S0 Jodh D005 DB AN Botod?

Options:
20 hours
1 % 20 fotoe

24 hours
) % 24 ot

90 munutes
3« 90 dawaren

60 minutes
4 % 60 DaIren

Question Number : 11 Question Id : 8135611611 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Micropyle of seed 1s involved in the passage of

DSBS Wolrr(Bo & DIFoS” 5‘%'3" A ?
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Male gametophyte
2B D3I D22

Pollen tube
. DTET D

Water
@

Gases
L e3P
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Question Number : 12 Question Id : 8135611612 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Colletotrichum falcatum 1s a fungus causing the disease

SO0 ey o 00 ogo svB TH

Options:
Smut of wheat
| % DO 57e0S Brben

Wilt disease of cotton
5 % P8 DET B

Red rot of sugar cane

, o DOD DG w0, Bridew
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Late blight of potato
20IT¥ (0D SO Jotdy Brben

Question Number : 13 Question Id : 8135611613 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following:

a. Pyruvic acid 1. End products in respiration
b. Acetyle Co-A i. End products in an aerobic respiration
¢. C;H:0H + H,0 1. Connecting link between glycolysis & Krebs
d. CO, +H,0+ ATP +A tv. End product in Glycolysis
SoQT R BDGLAN:

a. PADS 3050 L T(OSAD Bod( 63T 0
b. eI Co-A il OTan TSNS Bod| GO\
. @S ) S + A fii. B5ORD & 3y% BRIVOT R0
d. C0, +H,0+ ATP +A V. TS0 Bod| Gdy¥) S0

Options:

. (@—iD), (b—1), (c—iii), (d—iv)
, x (@—1), (b—ii), (c—iii), (d—iv)

5 (a—iv), (b—iii), (c—ii), (d—1)

4 x @—iv), (b—iii), (c—1), (d—ii)
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Question Number : 14 Question Id : 8135611614 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following:

Column-I Column-II
1. Alkaloids 1. Vinblastine
2. Toxins 11. Morphine
3. Drugs ui. Ricin
4. Polymeric substances 1v. Rubber
v. Concanavalin

SoBT A 2 DAXAD:

Sod | oS-Il

1. &) 0o L O &P O

2. erdy . 38yS

3. [Hhorew 1. O™

4. '® 208 Sloge il iv.  GenG

v. So5rradd

Options :
Lo —iD, @2—iiD), B-1), 4—iv)

L« (—iil), 2—iv), 3—ii), (4—1)

; x (1—1), (2—iii), B—V), (4—1iv)
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,x A—iv), (2-1), B —ii), (4—V)

Question Number : 15 Question Id : 8135611615 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is not dedifferentiated?

S8 TS DD YAB(EIG0 Do) ?

Options:
Tracheid

| @ TEOETeD

Inter fascicular cambium

- D)orohd E)e,ra:}s SeTrd9
2. %

Intra fascicular cambium

 oTodR e SeToY
3. % ®

Cork cambium

" Dot e SErod?Y

Question Number : 16 Question Id : 8135611616 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which one of the following 1s not a bacterial disease?

& 308T°S" erbaIr SOD I3y T 58
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Citrus Canker

LI 57086

Blight of rice
20 86 3

Crown gall of apples

S° 5 €3 e.eﬂaeSD

Root knot 11 Tobacco

DL &5° dreS 05 SE(~

Question Number : 17 Question Id : 8135611617 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following is not true for Endoplasmic Reticulum?

e.eoéga G35] 2078 Vdotrodow) Sod T°¢3e5° DA DO 57 ?

Options:
ATP synthesis

1 ATP 203383

Protein Synthesis
, % O Vo

Lipid Synthesis
2 % D& Do
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Secretion

 T(RSaD

4. %

Question Number : 18 Question Id : 8135611618 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is not a benefit of organic farming?

& So& 788" DoBOH H(HI"oe HALTBI 5B

Options:
Complete eradication of pests

D 8 Fanes” DO
(1 4 B

Reduced use of toxic chemicals

i DNRPOS BI0DTV TES) Shotdio

Maintaining an eco-system in field

ET0S" 8500 H(HD Ao(Totdtio
3. % ‘*“’

Preservation of beneficial insects

) % DOITBIEC000D LSO VodLes

Question Number : 19 Question Id : 8135611619 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following is a 6-carbon compound?

& 808 70" B0 576D DEATEHL SHAD DAY FHIW HBotSed..

Options:
Succinic acid
:béb.i')é 3000
1, = iz

Fumaric acid

5 QPe00S 8o

Citric acid

)
3 P85 8o

Pyruvic acid
PEODS e300

4. %

Question Number : 20 Question Id : 8135611620 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Ti plasmid 1s obtamned from

Ti Y& B Aol Tt Srson0?

Options:
Agrobacterium

eoff eSO
1.9 ©

Azetobacler

, % VRSrEs
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Clostridium

oA o0H
3.% ° 8

E.coli

4 x 689

Question Number : 21 Question Id : 8135611621 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Ubisch bodies are produced from

Q3D B0 B Ao &S BoLEN?

Options:
Tapetum

Vascular bundles

TPYST QoFe

2. %

Endothecium

3 % Dol B0

Sporogenous tissue

?ag D2 BIS Spreo
4, %

Question Number : 22 Question Id : 8135611622 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Point mutation is caused in which of the following diseases?

Dot &S \BIGTOD $0B D T(B SV Srho0?

Options:
Phenylketonuria
DS 8¢5° g Bosr

1. %

Sickle cell anemia

5 o D8S DS AN

Hemophilia

B UL

Thalassemia

4 % GVIAS"

Question Number : 23 Question Id : 8135611623 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements 1s incorrect?

0BT VS° DB B° DI DE?

Options:
Rafflesia i1s incomplete parasite

8. 9 T o
" TR0 28 ©RVORPE DO°R) 2D

Striga 1s a partial parasite

AT w8y JEE DO 2D

2.8 =

AP EAMCET 2020 )
collegedunia:s

India’s largest Student Review Platform

el



AP EAMCET 2020

Mycobacterium is a parasite

|, 295 ergloir as Do) &1

Albugo is a parasite

ﬁ‘ o
40 N 28 DO 2

Question Number : 24 Question Id : 8135611624 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The microbe which 1s opted for narrow spectrum insecticide is

S DI ) THIT EDHBIT Ao Arg) &

Options:
Bacillus thuringiensis

DRV GErdANOR)

1. %

Nucleo polyhedro virus

,  drsar FOrE 26D

Meloidogyne

. 0S5 0B

2.

Saccharomyces

TDO DD

4, %

Question Number : 25 Question Id : 8135611625 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Match the following:

Column-I Column-II
1. Lederberg & Zender 1. Transformations
2. Lederberg & Tatum 1. Germ theory of disease
3. Robert Koch 1. Transduction
4. Frederick Griffith iv. Conjugation

S08 TP RSDATAD:
Sod - Sod -l
1. 23(:‘.6')(2 & Zodid 5 &@5 D06
2 ?Jc:‘.ﬂag & Pt 11, ‘:‘hrié 23 2 .::"Scaw bg“oao
3. owb S il 280§ Hirdo
4, DEOS A0S v, 'rbao‘inﬁéﬁa
Options:

. ¢ (=9, 2—i), @-9, (-8
, » 1—ii), (2—-1), B—iv), (4—iii)

3 ® (1—iil), (2—1iv), B3—i1), (4—1)

s ¢ @—D, @-iv), @~ iil), (4—ii

Question Number : 26 Question Id : 8135611626 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

If we explore anther wall from outside to nside then which sequence will be correct
A- Endothelium B- Tapetum C- Epidermis D- Middle Layer

D016 3 HES° 20000 ol G008 God Tdw DA HHW $37I) NeS* § Bocsol
A-doli60abd  B-ddbo  C-wriR{dgaw  D- Sod) St

Options:
1 % —1D—A—1
, oC—A—D-B

. x B-D—A-C

, %« C—D—B-A

Question Number : 27 Question Id : 8135611627 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Avena curvature test 1s a bioassay for examining the activity of

I J5T° BE T B SosrBTrO DOEFE?

Options:
Auxins

g véJS (3%

Gibberellins
awaaafa 3
2. % "
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Cytokinins
2¢5° 3D e

Ethylene

4 % 2893

Question Number : 28 Question Id : 8135611628 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The capsid of tobacco mosaic virus (TMV) has capsomere numbering

T Ararows D6 soyE &° ol ST\ DY Do

Options:
1 « 2130

2 ® 1230
3 % 2310

4 % 3120

Question Number : 29 Question Id : 8135611629 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following:

a. Pitch of Helix 1. 10 bP

b. Number of bP per each turn 1. 3.5nm

¢. Distance between 2 successive bP . 0.34

d. Nature of the Helix 1v. Right-handed
S0BT° R 2HDAAD:

a. PO L0&d T i, 10bP

b, S006dS" 6 adw voay ii. 3.5nm

c. 2060 HA Botd wdw 06 Aroaw i, 0.34

d. £0cd g DgErSaw v, S& B3 o)

Options:
, x (@—1), (b—ii), (c—iii), (d—iv)

2. ¢ (a—i), (b=, (c—m), d—w)
, o @=) (b=, (e—), (d— i)

4 x @—id), (b—1), (c—iv), (d—iii)

Question Number : 30 Question Id : 8135611630 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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Match the following:

Column-I Column-I1
1. Trichoderma 1. Citric acid
2. Saccharomyces 11. Acetic acid
3. Aspergillus Niger 1. Statin
4. Acetobacter 1v. Toddy

SoT° A RHDGHoG:

Sod-1 Sodo-11
1. g§ao i DOS e
2. RO . QS e
3. e0\0BVD D6 i, 8
4. oS ergb iv.  gen
Options:

. x @ —iil), 2-i), B-iv), (4—1)
, x (1—1iv), (2—iii), 3 —ii), (4—1)
; g @), 21, 3—iD), @4—)
s o A—iiD), 2-iv), B-1), (4—ii)

Question Number : 31 Question Id : 8135611631 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 )
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Respiratory quotient 1s maximum when respiratory substrate is

2D FRSair R DETIT &) YYD TS § 2085 (5820 ocr0?

Options:
Fats

1. % US

Glucose
- BrED

2.8 =

Malic Acid
o Srdsndw

3.
Proteins

AP EAMCET 2020

Question Number : 32 Question Id : 8135611632 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is called drosophila of plant kingdom?

806 TS BAD H)¥ TRy ET DT 9 DY E?

Options:
E.coli

Acetabularia

, % ©NLROTBALT
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Neurospora

- S UA(CRN

Chlorella
Ye13)

4‘% o o

Question Number : 33 Question Id : 8135611633 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Cytokinin such as zeatin was isolated from

203780 Hotd DETTID A B o) DB B E?

Options:
Oat seedlings
85 TG Aws) ew

Rice seedlings

- Tfo T Jwe) en

Senescent cells

| 3‘565 SETD
: @

Coconut mulk

Swaa D
4.

Question Number : 34 Question Id : 8135611634 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Schizocarpic fruits means

%\oi’%awm 9T

Options:
Fleshy endocarp

| GOBBS oBDOESBAN

Fruit containing many seeds
, 98 BT SHAD DA

Fruit which dehisce at maturity
2 Do ‘:35565%03‘ sﬁhé.)én

Fruit which split into many one seeded parts after complete ripening

P DVo DS DoBD ST BIS 08 IBJAW (0 JE) LU D Dco
4, v

Question Number : 35 Question Id : 8135611635 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In which of the following groups are neurospora and penicillium included?

AEEY Yo" 208050 DAYDALD VR D ATYS” BOIE?

Options:
Phycomycetes
i DE WD
Basidiomycetes
, y BREOrDDOD
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Zygomycetes

-

L BEDONED

Ascomycetes
6 b=
es D

Question Number : 36 Question Id : 8135611636 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Match the following:

a. AUG 1. Phenyl alanine
b. UAA i1. Tryptophan
c. UUU 1. Initiation codon
d. UGG 1v. Stop codon

SoBT° AR RSHHGTISAN:

a. AUG 1. 28 VA

b. UAA i SIS

c. UUU . ordes S

d. UGG V.  eody g
Options:

- (a—iii), (b—1iv), (c—1), (d —ii)

, » @—iii), (b—iv), (c—ii), (d—1i)
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s (a—iv), (b—iii), (c—1i), (d—ii)

4% (a—1), (b—ii), (c—iii), (d —iv)

Question Number : 37 Question Id : 8135611637 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Fungus without any mycelium is

3Dogserersn &9 3Dogaw

Options:
Albugo
ese0N

Phytophthora
250"

Agarius

3 % eNTOSD

Sacchoromyces

00 20000
4,

Question Number : 38 Question Id : 8135611638 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Lack or low levels of Potassium. Nitrogen. Sulphur and Molybdenum causes

TP, P, dy6, dakn 2D &0 HoBakn B85 Faowe” okt
50 LIV WA

Options:
Chlorosis
Dgﬁéo

Necrosis
SO s 0o

Premature leaf fall
. DTren Jo $93e5° TrdY Do

Inhibition of cell division

4 SEDBRD DB Gotsercitro

Question Number : 39 Question Id : 8135611639 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Campylotropous ovule 1s characterized by

S02065°85°0 oo GAwS); VEELw

Options:
Chelza & Funicle on the same vertical line
_ D2 00 okl Tr(Go 28 AWY) TV Eotd

Micropyle lies close to funiculus

5 » ot TG, 0k)oBANO Cﬁgt‘in“’ STAR TN

AP EAMCET 2020

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



AP EAMCET 2020

Micropyle comes towards funiculus
= OETT(GA0 oG)BD DY SN

Completely mverted
4 % PO SO S0V &0t

Question Number : 40 Question Id : 8135611640 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The salting of pickles 1s an example for

EROTODOS &Yy SVDEo BAS G oes?
Options:

Deplasmolysis

Seagssdy TS eso

1. %

Plasmolysis

, o SEGS oSt

Flaccidity
L B3OS
3.% =" @

Turgadity
. E'JD@ED Wolito
4, %

Zoology
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Section Id: 81356133
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes

Question Number : 41 Question Id : 8135611641 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Union of Pronuclei of the gametes is called

Ro0Ir( Dere) I8 oBs™Y SVANS DBoEIEH?

Options:
Homomuixis

Holomixis

5" D&D

Amphimixis

30 DED

Herkogamy

. 38 650
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Question Number : 42 Question Id : 8135611642 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Vas deferens starts from which part of epididymis?

DDEED CBVE), @ Frodo Aol FUEIT"E AVGVDHBEH?
Options:

Cauda epididymis
o a £
1 @ﬁaaﬁagmé

Corpus epididymis
. S0GS DadCi G adR
i -

Caput epididymis

, o 36 ADAZD

None of these options are correct

4 on O BT VOIS 5

Question Number : 43 Question Id : 8135611643 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A sponge harmful to oyster industry is

e_s%:abu 2830 3 £0hB RDyoBS

Options:
Cliona
i SO °
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Euspongia
_ oo al"

Spongilla
. S‘Do&g

Hyalonema
4 % SPOSTS AT

Question Number : 44 Question Id : 8135611644 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Who proposed that ecosystem 1s the symbol of structure and function of nature?

LT 00 SR O3 PGS ), AT S LBk Saird) S DA B 30DIB AIG?

Options:
Tansley

Odum
5> % - ey

Reiter

;% 06

Gardner
& rrgc‘éts
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Question Number : 45 Question Id : 8135611645 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Oligodendrocytes and astrocytes are neuroghal cells found in

a) Peripheral nervous system involved in formation of myelin sheath

b) Central nervous system m which oligodendrocytes form myelin sheath and astrocytes
bind neurons with capillaries

¢) Autonomic nervous system in which both cells provide support

d) Sympathetic nervous system in which the two cells help i conduction

ArBaosr srruowd ediGeE dEy 200ak B LD I8¢ S

) H6Bab T 506" God S0atrdS Fear Domene” Sy

b) Sog et SRS Gotrow. BTG 20airdd §Feorb domytd” BBt eYesy

0 ST 68 §3 TP508° oML SHARANEEOD
¢) #xado $BS T bﬁbgé‘ ET) 00 ST RN
d) HSBrS T B%6" &l T DG STHAN EHATHIED

Options:

1.8 @

2 @ D

Question Number : 46 Question Id : 8135611646 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Identify the correct differences between Chondrichthyes and Osteichthyes:

a) Chondrichthyes have gill shits covered by operculum and Osteichthyes have gill slits
without operculum

b) Chondrichthyes have swim bladder and Osteichthyes do not have swim bladder
¢) Chondrichthyes contain placoid scales and Osteichthyes contain cycloid scales

d) Chondrichthyes contain terminal mouth and Osteichthyes contain ventral mouth

506, B S8080 B8 B A% (v BErd’ VB LoIA:
1) 508 B Mot 200\DDLUR E 8 LK) VD Gotwod, BHE B BB
$) 8 L) 0D G0t
b) 506§ 63 Mod) TAE BN Gobwod, 8IS B TrORE DA otk
) 57065 BN do) 570G TURVL) Eotran, 8IS BIY PTONE TR Gotrow

d) 5065 B Hod S QPT|oBaNS’ Gotnod, B8NS BIG St &EEAVT Gotwod

Options:

1.% @

Question Number : 47 Question Id : 8135611647 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Descent of man & selection in relation to sex was written by

‘Cerd0t) €30 & VVEQ AR BTN L VS YRS Sudondd
R0t 5D 3§D S @S 8TRD & DEY DR
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Options:
Linnaeus

0 D:Scla‘bna

Copernicus

Darwin

s o 5?655

Mendel
4. % 20::6.‘.6

AP EAMCET 2020

Question Number : 48 Question Id : 8135611648 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020

el

collegedunia:s

India’s largest Student Review Platform



AP EAMCET 2020
One of the following 1s incorrect regarding WBC:

a) Monocytes migrate from the bloodstream to other tissues and differentiate into
tissue resident macrophages. Kupfter cells in the liver

b) Eosinophils Modulate allergic inflammatory responses
¢) Basophils Release histamine for inflammatory response

d) Natural killer cells are type of phagocytic erythrocytes

$08 TS’ BV 68 SITVL Dotobow) VB 5

1) AR 653 T 38 SrrOsNS'AS HDTol) Are BES STV BAL

SO0 SO0 SETrer éJ"dJ) WOl
b) @) 5y LD W58 DAY’ S| FY SarIrow
c) 5‘:5‘33953 TN VR DEER B St S BFoD

d) WP Bods SEre) w8 BS0WN HES B D5

Options:

1,8 @

Question Number : 49 Question Id : 8135611649 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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[dentify the elements which lead to much variation in the physical and chemical conditions of
different habitats.

a) Only components such as Temperature, water. light and sol.

b) Only components such as pathogens. parasites. predators and competitors of the
organism with which they interact constantly.

¢) The physiology and anatomy of organisms
d) Bothaandb

DG BT IS FAG AB0LD G0 ::efgmoes“ OS[BS Srdyw $oBT0S”
90T°Q N SLH?

2) 608, A, 58, 2 ocur LoTen Argd

b) Do) dapen, TiBadsw, Koz, Fédardown Andend Q030000 B0
$56{e0 (0 2P

c) 2aYL 300 (6} DB WodB) T8 TFW
d) 2 20803 b Botoiir)

Options:

1. % 4

Question Number : 50 Question Id : 8135611650 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Arrange the following statements regarding Amoebiasis infection:

1) The trophozoites multiply by binary fission and produce cysts and both stages are passed
in the feces

2) Trophozoites migrate to the large intestine.

3) Excystation occurs in the small intestine and trophozottes are released

4) Infection by Entamoeba histolytica occurs by ingestion of mature cysts in fecally

contaminated food. water. or hands.

DATHD HE WotioBod) 08 DIBTVRY 1B LONH 23S’ 00006

1) J0g dPen A X\ oo T8 o[ Do), DY DOYEXDE'D, Totd
G308 L0HLL DRYoWET

2) Tae dPro DG DE'E TR0 Bodoerow

3) D) s’ DEISordn Dol s LHen Ddode wyaran

1) Swo8" SwhBRod A T 8o S8 BEaN S0 dotdoer ¥ dis
2082RV0E

Options:
1 % 1—3—k—%

, o 4-3-2-1

s % 4—-2-3-1

L% 2—-3—-4-1

Question Number : 51 Question Id : 8135611651 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In human being. brown eye (B) 1s dominant over blue eye (b). A brown-eyed couple has a

blue-eyed child. What are the possible genotypes of the couple?

S’ FEoBo(B) dor $¥y $DA Goterdn, dwBn(b) Gord $¥ S0 wrda. &
2BRS0RE" Heiady Gorb $¥0) S0 30w, D dord §¥0y $DAR RoTrAw ol
8 GodB0R 2R EroRIe?

Options:
1 % Bb X bb
, « Bb X bB

4 % BB X bB

Question Number : 52 Question Id : 8135611652 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Biogeochemical Cycle having a small gaseous component 1s found 1n

Q T Y0P SaDoes’ Eg 200’ T0IN 2o SN ?

Options:
Sulphur

Dend
TR S

Nitrogen

), » DB
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Carbon

3’5&5

Phosphorous

Question Number : 53 Question Id : 8135611653 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the incorrect matching:

SoBT*AS” ST 28 DBIIS DYoridISW:

Options:
Crack- mnterferes with the transport of the neuro-transmitter dopamine

55 EDD 0D TC VDT IPEAD STTeS’ E'eg0 S0 BRI

Benzodiazepines- hypnotic(sleep-inducing). anxiolytic

. B0E EOIrRDIY- AG BD\oB, T{SO0S SORoBD

smack- addictive and considered most dangerous opiate

&&é- S{RTB) S 20BA5 DITGSEI0ND LDADES

Pethidine- Semisynthetic opiates
DBES- DD oS LHHODESY

Question Number : 54 Question Id : 8135611654 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Which of the following is not a character of red muscle?

& $08 T°865° DO S0k SochrNEN VELAD SR DA?

Options:

It contains more red colored oxygen storing pigment myoglobin.

B8 HGANE I D 812D SHAD LAWHDD TSP DA Gotwod

Myoglobin retains more oxygen
. SOAHDD T ) S 98120 2 $OA &otwod

Exhibit aerobic respiration

 STPOI0RTE FE(RSOD 2EMRD

Contains less mitochondria but contains more sarcoplasmic reticulum

. v O 2E'5oC Al VR BAKD &Y FB) Fraas GB[ U $BA Gotwod

Question Number : 55 Question Id : 8135611655 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Convergent evolution is illustrated by

0DVGE DBETEA"Y B aotDIE

Options:
Dog fish & whale

1 A Pa & Baddoivo
Rat & Dog

> % Des & 808,
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Star fish and cuttlefish
5 % RANG dEBo & SOS DI

Bacterium & Protozoan

w i erSBoto & JeSa

Question Number : 56 Question Id : 8135611656 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Name the classes of Tetrapoda that exhibit the following characters

Column (A) Column (B)
Acrodont Thecodont
10 cranial nerves 12 pairs cranial nerves
Cold blooded Warm blooded
Amphicoelous vertebrae amphiplatyan vertebrae

308 VLTV TGV m&bm DO DGR SAOF A0S

- (A) Sodo- (B)
es8c085 B80S
10 280 S0 T 12 200 S0 T°COD
FHe) GSA0 L
623030030 S3dOSeD EHODVBL SBELSTD

Options:
(A)- Amphibia (B)- Reptilia
 x (A)- ezobsoen  (B)- DB e
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S x (A)- Do

(A)- Reptilia
3 % (A) 2ByJren

(A)- Amphibia
4 o (A)- ezosTw

AP EAMCET 2020

(B)- Amphibia
(B)- ezocdodoren

(B)- Mammalia
(B)- £6ren

(B)- Mammalia
(B)- £6Tren

Question Number : 57 Question Id : 8135611657 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify wrongly matched Scientific name and common name:

AP EAMCET 2020

Scientific name

Common name

a) Bangarus

Krait

b) Exocoetus

Flying fish

¢) Trygon

Electric ray

d) Carcharodon

Dog fish

e) Myxine

Hagtish

ST RHDOVD ?écm TP & FTEEE TEDENA ABotIod::

FRODH T AW FGEOE TBB
a) &OITED SO A
b) AEDLD DAB B
c) Qn""é Dc:bsfa o}
d) 5°6), Fod £g), BH
e) 33535 A 3D
Options:

Only (¢). (d)
1. % (c). (d) QS

(a). (b). (c) and (e)
5> = (a). (b). (c) S0dasw (e)

Only (c)
3 % (c) &0 S

Only (d)

AP EAMCET 2020
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Question Number : 58 Question Id : 8135611658 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In our body. the largest number of neuron cells can be found in

& 808 TS’ ArdPUS’, VABS e STren DAY &t

Options:
Eye

o0 -

Tongue

-~

Brain
3 o DG

Spinal cord

4 % TGSt

Question Number : 59 Question Id : 8135611659 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020 _
e collegedunia:

India’s largest Student Review Platform

el



AP EAMCET 2020

Match the following:

Column 1 Column 2
a. Testes in males p. 4th -6th abdominal segments
b. Mushroom shaped gland q. 6th-7th abdominal segments
¢. ovaries in females r. 2nd - 6th abdominal segments
d. anal cerci s. 10™ segment

SoRTeE)) R HATLAD:

Sod-1 Sod-2
a.  MBPS” ST p. 45-69 &G0 PoC.TLD
b, ST fod 1 63-75 666 doldTren

c. Q2PUS worrsaIren | . 23-62 GGG Poldored

d.  DoinDcori&an 5. 10 S Dol

Options:
, x @=p), (b—r), (c—q), (d—5)

, » @—a), (b—p), (c—1), (d—5s)
3‘%,,(3—;)), (b—q), (c—1r), (d—5s)
px @9, G-, (=1, [@-p)

Question Number : 60 Question Id : 8135611660 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Acrosome of sperm contains

B0gS00 g IEE D &° Goldd

Options:
Mitochondna

_— 2085 5" 0g.0D

DNA
2. w DN“JL

Hyaluronidase enzyme

3 @ TODWEIEE DoB

Fructose

AP EAMCET 2020

Question Number : 61 Question Id : 8135611661 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Vitelline membrane 1s a

DG B30 0D

Options:

Secondary egg membrane

| 580D eocagio

Primary egg membrane

5 o PB VoS

AP EAMCET 2020

-

el

collegedunia:s

India’s largest Student Review Platform



AP EAMCET 2020

Tertiary egg membrane

3 % SyB0D Vot d(Wo

None of these options are correct

4 % © RTE VOIS 57

Question Number : 62 Question Id : 8135611662 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following points are important for successful bee-keeping?
1. Knowledge of the nature and habits of bees.
1. Selection of suitable location for keeping the beehives.
ii. Management of beehives during different seasons.

1v. Cross hybridization among selected parents.

308 HIBT S’ BIBHO DoHSANS’ D20DPIAD STHErIS 20800000 22)?
L D80 D ITrd, SRV TV Bewk &8¢
i, SRS AP B0 HEFAVA Bt
il DG 2oBLPVE” SISV CIrRArd] DEBOL) JFotdeaw
1v. Q830 30w SVAIRRTEL LN
Options:

(1). (11) and (1v)
1% (1). (11) B3 (1v)

Only (11) and (111)
, s (i) B0Ba0 (iii) 2@
(1). (11) and (111)
L o (), (i) So8am (i)

AP EAMCET 2020
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Only (111) and (1v)
4w (i) 080k (iv) Srgo

Question Number : 63 Question Id : 8135611663 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

With increasing age. the linkage

S0 Folelaly g RPN &

Options:
Terminates
&3 ONoTILICON

1. %

Becomes strong

5 @ BVDE

Becomes Weak

3 % DOTIDER

Remains unchanged

, w STENGOEE

Question Number : 64 Question Id : 8135611664 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Statement 1: Complementary pairing between nucleotides 1s exploited to diagnose presence of a

specific DNA segment 1n a mixture,

Statement 2: DNA probes having radioactive 1sotopes help to detect DNA by autoradiography.

3538 1: AMIAIPHE B BB w8 PG D3’ DNA Q) GoGEID

EFHENS GOAPAFH
DO3d8w 2: DNA Bearmdys aJ Dy ol Deoed DNA & eseS Bl arnd’ mioard

Options:
Both statements 1 and 2 are correct and statement 2 1s the correct explanation of statement 1.

1. Dad) 1 003D 2 N0 901D, PP 2 9O 1 A5 V0 B0V DOER

Both statement 1 and 2 are correct but statement 2 15 not the correct explanation of statement 1

5 % R 1 08010 2 V0 9000, PaD 2 B9 1 A5 V0 00 D06 5P

Statement 1 1s correct and statement 2 1s incorrect
3 % RIDIAD 100 B00DJHG, VODBIAD 2 VO BONAEG S0

Both statements 1 and 2 are incorrect

4 % DODVDD 1 AOAI 2 DO B0V S°Y

Question Number : 65 Question Id : 8135611665 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The term Ecology was coined by

QSOD, €90 DGO PAPOODD T

Options:
Lamarck

_ wmﬁb
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Bateson

Haeckel
3‘ J ;T’Qfs

Spencer

4 % K)D?\'):Jﬁ

Question Number : 66 Question Id : 8135611666 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements 15/are mcorrect?

1) The human liver fluke. a nematode parasite. depends on two mtermediate hosts (a snail and a fish)

to complete 1ts life cycle.
2) The malanal parasite needs a vector (mosquito) to spread to other host organisms,

3) In case of brood parasitism. the eggs of parasitic birds (¢.g.. cuckoo) are not detected and removed
from the nest because the parasite’s eggs resemble the host’s eggs in morphology and colour.

4) A population of frogs protected from all predators would ncrease indefimtely.

300N’ D05 PABAAN/DASTOND (oo
D) ardd 806 Qrs w8 dare'e Hrd) 2. ad 89 2B 950 QP SEHL To

QPGS adoirw (M8, 3) P BEPeHON

|
e

DFOOIP HEPDYAD T3 w8 TerEaw (Ba) THTH
3) (g §3 D) 280 S0t Do) 8D DE DK A0 2D M DBATH, S 23
DR Godertn oo Hom Badon Mk HTE Taco wBaLy DIDaDE BN
4) 8Oy aTe HBESO0) 00E DD 8D DHOBIT DEOMER)
Options:

(1) and (4)
1.« (1) S0doxw (4)
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(3) and (4)
5 % (3) 0o (4)

only (1)
3 % (1) 0°@ao

All given statements are correct

L=

4 % QUINR TP DODT DOADAD

Question Number : 67 Question Id : 8135611667 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Amazon Rain Forest 1s known as

IRV DV & 08 Dol HOAII ).

Options:
Lungs of Forest
OEPYV TS E#dB3BOD

1%

Lungs of our Planet

BrEro Al €200
2. ¢ -

Lungs of Plants
. S008) © AINE) EOBABLD

Lungs of Mars
x OGS (1570 AV =oreleliel STV
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Question Number : 68 Question Id : 8135611668 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Bacteria and fungi developing on dead decaying organisms are

5T 20,88TZ00D ©DB)B Bod ergbosr, Fogren

Options:
Symbionts
1 % RITPRIOSTW

Saprophytes
) & RPSSTF e

Parasites

DT BYHW

3.

Commensals

4 % T RS

Question Number : 69 Question Id : 8135611669 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements 1s correct regarding the principle of safe blood transfusion?

05D 68 SrdyC DTV DoZiolor) Sobd TG B LONHG B 7

Options:
The donor’s red blood corpuscles should not contain antibodies against the recipient’s serum

| 02RO 620G SA8HAT T ds) RBC Mo DOGFe Gokodd
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The recipient’s serum should not contain antigens against the donor’s antibodies

i o3 DBV AT VORITW (P VAS’ SodTd

The recipient’s serum should not contain the antibodies against the red blood corpuscles of the donor

L T8 RBC 39 303208 pdifen e O300° GokTmehd

The recipients red blood corpuscles should not contain antibodies against the donor’s antigen
) TEAE), DRIV BN DO (rd RBC & Godred

Question Number : 70 Question Id : 8135611670 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a mating two mulattos, each heterozygous at all three gene loci for the skin colour, what 1s
the chance their child will have very light skin?

76 3 2 Fddwer Jadotwhadr $BAY “Drel” Resdndn Sodd 2B
DYTE YD B0, 208 Y VIS I0d?
Options:

1

1.% 4

o
2_3&8

9
L« 16
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4. v 64

Question Number : 71 Question Id : 8135611671 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Identify the incorrect matching

VOS5 2D (bgntﬁod

Options:
Thyroxin - Iodination of amino acid called tyrosine

: 8 BT°E\S - 0T esATen AINE) BONESCETY) BEDS Wotrdd

Melatonin and serotonin - Derived from Tryptophan
3 VD B0 VB - BI'DS ow) &S BoLET™ 0D

Epinephrine - Transformed from an amino acid Phenyl alanine.

L o DDIDD - HIS VD BT BRI Aol HG B

Corticoids and sex steroids - Derived from Cholesterol

_ S"85anE $0805n GohEr HFE) Moew - FTIS Aol &3S Babedsrow

4.8 8 T

Question Number : 72 Question Id : 8135611672 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Acronematic flagella are seen in

DEDATE SToeren SHAD 2D
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Options:
Euglena

1. 8 na“

Chlamydomonas
- SaLE ATTD

Astasia

3.% To

None of these options are correct

4w O BT VOIS ST

Question Number : 73 Question Id : 8135611673 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In T S of human small intestine Serosa 1s the outermost layerand 1s made upofathn A
Muscularis 1s formed by smooth muscles arranged outer B andmner € layers.
Sub-mucosa 1s formedby D . Mucosa is the innermost layer made of _ E

A D) M B Ee” I NG Dedd T'6. a0 DeSD _A__ FWr, 00
S0cTm0e” D0YED S0k PO Hoch Dewdew _B__andan &Y Py __C__ dar
OGBR0AN BN _D_ Far 608 o eond Fypoan _E_ &0 doycaron
Options:
A- Endothelium. B- longitudinal, C-circular, D- loose connective tissues. E- Mesothelium
A-oEBY0DD, B- 5016 Soccoren, C- 0D Socoren, D- HEen Nociras

1 % Sezroaw, E-0J8dobay
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A- Squamous epithelium, B- Circular, C-Longitudinal. D- loose connective tissues. E-
Columnar epithelium

A-aobv GSY, B- 001 Socoren, C- esoined Socoren, , D- cen Doddras

Seare)), E-002r80 &5V

A- Mesothelium. B- longitudinal. C-circular. D- loose connective tissues, E- Brush border
epithelium

A-DYHD0HO, B- esoined Locoren, C- doah Locoren, D- dchen Dodirad

3 StEroaw, E-9od ©ow JoddaHad

A- Mesothelium. B- longitudinal. C-circular, D- Endothelium. E- connective tissues

A- DIEDonS, B- esatned Locoren, C- doad Locoren, D- Jo&&dabey |, E-

4. % NO0IrRSE 56PN

Question Number : 74 Question Id : 8135611674 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A sample of blood shows clumping with antiserum A but not with antiserum B. The blood
group would be

8 65 To® asroll D6 A’ § ot Do\ alre Dosw B’ & Aoxd\ o 2068
T3 b D 08 3620 ©HSd?

Options:
1.8 0O

). A
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Question Number : 75 Question Id : 8135611675 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The endocrine gland responsible for immunity 1s

0BT )e5* :.1*’5&.0&;55@&5“ SENE 0o T DS (od

Options:
Adrenal
. @@3&5& Qo&

="

Pineal

5 % DVODES (fod

Thymus

L o BS0D (ol

Pituitary

4 % DOR (obd

Question Number : 76 Question Id : 8135611676 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Water vascular system is found in

RODICED SO gD 2Hen

Options:
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Sea Anemone
5 % OIS

Sea Cucumber
% m €806

Sea Horse
, o D6y

Question Number : 77 Question Id : 8135611677 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Assertion: The portion of the myofibril between two successive ‘Z’ lines 15 considered as the
functional unit of contraction called sarcomere.

Reason: During contraction, ‘I" bands get reduced whereas ‘A’ bands retamn the length, thereby
causing shortening of the sarcomere.

DB BB0: 500 K BoBIPOES” Tt SV 7' 1w DE| Golt FPorrd) E0t0 VLA

£90E°0)

S6RI : S00 DOSWANES” -8 TEY BLA0A 50 A’ DY TEQ APGI AVTOEIVTT

&0008. BNV DEE VoA TEQ Off T Gotnod

Options:
Assertion and reason are true and reason 1s correct explanation of assertion

1 % :)?()ejm) SO0 503D WO 90000, SO D?aéanéS) 20 29200 D0

2.9
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Assertion and reason are true but reason 15 not correct explanation of assertion
D%’ae‘.ﬁ‘m} 0003 570D A0 0N, SPOED D%()G.mmsh 20 29010/ D0 5D

Assertion 1s true and reason 1s false

- QFNBA VO 0NDD, SN VO ONAEA S

Both assertion and reason are false

4% .‘:)%")G{m 801D 57063000 O 200D 5w

Question Number : 78 Question Id : 8135611678 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Enterohepatic circulation of bile salts refers to

a) Circulation of bile juice between gall bladder and liver through cystic duct
b) Combining of bile acids with sodium to form bile salts
¢) Bile salts after emulsification are absorbed back into blood and are used in liver for bile juice

d) Bile salts of chilomicrons are released into blood and are carried to liver where they are not
used m formation of bile juice.

6§ 0 LI SFaIred AA)TAS 8D Wrded
a) DB§ 6RAD EFODTVAD GO DFFFALAN DB THaDE D] G BEML
b) De 6 esauren Fdobaw & 5D PERY 0 VI JOYEEOD
;:) DOJOR VAR DDDYE0RA BT 05 §'8 TaoveEaran ok sTabaw
06 PBIERANE” GV
d) 363 & (o PG VIEFLD 65D 63 DG BN MO G50 TO°

SFODANILD 36 D00 PAIBIRD TS FEEY)

Options:

1.8 8
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4. 4

Question Number : 79 Question Id : 8135611679 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Consider the following three statements with blanks. Which of the options correctly fills all the
blanks 1n these statements?

a) The ascending limb of loop of Henle 1s impermeableto (1) but allows
transportof  (2)

b) (3) and (4 playa significant role in producing a concentrated urine.

¢) A fall m glomerular blood flow/glomerular blood pressure/GFR can active at the JG
cells to release (5)

306 QP PadH) O HOIBod), TE" AP O Dod VAFTHAD Lo,

2) TP 360 D00 BBTPR eraPuY _ (1)_ % a6 AT 0tnod, )

(2) DO E0t08

b) (3)___aoBaim __ (4)__ e eB8 mEe 900 anrgan Socwe” §¢ycaron

¢) Haarsy 65 ocsan For fiaocers 65 poraran /GFR ORI 25 fnmers

eren Sabaosanon  (5) &0 DG dJrow

Options:
(a)- (1) Water (b)- (3) Helens loop (¢)- (5) Renmn
(2) Sodium Potassium 1ons (4) Vasa recta
(a)- (1) Do (b)- (3) 3D rd (c)- (5) 8BS
e @ Fcao Jernoo 903 (4) oJ b
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(a)- (1) Sodium Potassium 1ons
(2) Water

(a)- (1) Fcabo Jerdano Lo
(2) Ao

(a)- (1) Water

(2) Sodium Potassium tons
(a)- (1) Do

(2) Fcowo erpoo oIra

AP EAMCET 2020

(b)- (3) Bowman capsule (¢)- (5) Erythropoietin
(4) Glomerulus

(b)- (3) TS MHYE (c)- (5) BT

(4) Bamon

(b)- (3) Helens loop (¢)- (5) Erythropoietin

(4) Vasa recta
(b)- (3) 2 rd (6)- (5) JBED 00D
(4) o b3°

None of these options satisfy all blanks

4 % @ 2I°ED DOADOG 5o

Question Number : 80 Question Id : 8135611680 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following pairs correctly matches a hormone with the conditions resulting from

its deficiency?

& 8o THS" 6D &% 30 o2oid HBRGVS BT 2SBADLEIB ABotion

Options:

Parathyroid hormone- Diabetes Mellitus

¥

 TTBT0E G- CoDHEdS 090D

Luteinizing hormone- Failure of Ovulation

w Lr(BD2oh ) S- ©od 310D Ddewo

Insulin- Diabetes msipidus

3.

'Qrﬁ)‘)aa::)' CO3rEIeD ‘QDDEJGE'J
*%

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

Thyroxine- Tetany

4 % @U“é‘b5' e

Physics
Section Id: 81356134
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 81 Question Id : 8135611681 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Faraday’s law among the following 1s

& 308 TS D DAECEAD JEE AFBANR AFDE?

Options:

9SE.dA=3
(A -
, 4 $B.dA=0
3. ¢
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—d0g
dt

$E.dl =

_ dd
| ﬁBdl: #Qlc‘l'ﬂofn_g

4. dt

Question Number : 82 Question Id : 8135611682 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Sound waves of wavelength 4 and velocity v in medium-1 enter medium-2. If their

velocity in medium-2 is 4v. the wavelength in medium-2 is

208 03rHEA0° 1 Sbotd 99)5;5», v I8 (0 G5 SborTen Bocksd 03°HE 805"

DR FOWAE T8 Dt 4v vond, T8 écﬁor@ggm 20

Options:
1.v 44

4 % 162

Question Number : 83 Question Id : 8135611683 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The coefficient of self-induction of a closely wound coil of 100 turns and area of cross-
section 1 em? 1s 1 mH. Find the magnetic induction at the centre of its core when a current
of 2 A flows m it.
100 €508 oadf, 1 cm” 8 DFrow o SRS oteg 28 Srictoty 1 mH o
20580 $0A God. & & (Tr 2 4 DAS BTN T So@w H6 D0\
O30 08 68 (itotdi.

Options:
1‘\;/0.022 Wh.m™?

, % 0.4 Wh.m™?

3 % 0.8 Wh.m™?

4 % 1.0 Wh.m™?

Question Number : 84 Question Id : 8135611684 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The average emf induced 1n a coil. when the current in it changes from 2 A to 4 A in 0.05 s.
i1s 8 V. Find the self-inductance of this coil.

28 Bricis’ 0,05 s 08 DS D0 2 4 Aod 4 4 £ APBIYYE HOSWH W00

DA 0S Lo 8V eowd, & SRS A(OI0-DOES(0 dodh?

Options:
1 % 08H

, % 0.4H
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Question Number : 85 Question Id : 8135611685 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The pair with same dimension 1s

208 A £OAD 2ot

Options:
Pressure and density
Do SBALL Jrodeh

1. "

Impulse and momentum
£ o W ERDED B3 B[00

Stress and strain
, x 28000 Jo8aiw DS

Momentum and nertia
4 % GO0 SBATN 2ESLHD

Question Number : 86 Question Id : 8135611686 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A disc of mass M and radius R rolls without slipping on a level surface with a linear speed v.
Its kinetic energy will be given by

M gbistr?. R U‘ﬁﬂ“go (10 w8 ¥y 28 VATodE SVop FPENT" BHBINYNW. T

300D S v wad. D (18233 dod=
Options:

3
— Mv?
4

Question Number : 87 Question Id : 8135611687 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The peak current through a 200 mH inductor connected to an AC source of peak value
210V and frequency 50 Hz 1s

210V 36 Dead, 50 Hz 3%::2)&5:11: o 28 23708 200 mH DOS") g00d, &
20S0 Dol DI:Tod DG DENS DL LY.

Options:

, v 334

3 % 854
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4. % 55 A

Question Number : 88 Question Id : 8135611688 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the energy released in the fission of one nucleus 1s 3.2 X 107** J. then number of nucles
required per second m a 16 kW power plant 1s

28 805 D)0 BOBYYED 3.2 X 107 T 38 Dewddd, 16 kW 3‘&1}250 10 w8

AANS ST TS 2,8 VSS 55N Sos™L o)

Options:

1012
> » 02X 10

3. % 0.5 x 1012

14
4 % 0.5%10

Question Number : 89 Question Id : 8135611689 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A body 1s moved along a straight line by a machine delivering constant power. The distance
moved by the body i time ‘" 1s proportional to

0 &mgﬁm&“ 2,8 0BG 28 HNYHA VOYED Srga0e" BhodERVd. 't sT0BS’
€3 5R0Y) DOIrEdotd) BrdAn 8 OR0S ArROTSA0S” Gotd.
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1/2
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Question Number : 90 Question Id : 8135611690 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The potential difference between points A and B of adjoining figure 1s

D3NS B SwoHAanes’ A Sdasw B © 2063 T EODHE e

Options:

2
w7
1. 8 3
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Question Number : 91 Question Id : 8135611691 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When a tyre pumped to a pressure 3.3375 atm at 27 °C suddenly bursts, find 1ts final
temperature (y = 1.5).

27°C 96 ws oG, LS00 AIVS), fnc.‘.a“bl 3.3375 atm H65) Do) BoEMT E}Sﬁ“ég‘})n“

&3 50 DAHDA, A eg‘*go (y = 1.5)

Options:
% 27°C

5 x —27°C
3. % 0°C

Question Number : 92 Question Id : 8135611692 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A force of 0.03 N acts on a body of mass 0.5 kg. which 1s mitially at rest. for a duration of
10 seconds. Then find the momentum acquired by the body.

NEND igaes“ &) 0.5 kg 33073 (10 2,8 S0P D 0.03 N wwo 10 380 DA BAIB.

O, & Y JoB G S BeYIw.
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; 0.15 kg.m.s™ !

v 03 kg. m.s™1

2

3 % 0.015 kg.m.s !

4 0.05 kg.m.s™ !

Question Number : 93 Question Id : 8135611693 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The radius of curvature of the curved surface of a plano-convex lens 1s 10 cm. If the refractive
index of the material of lens 1s 1.5, then 1t will

BV DTS DL BV GBSV S5T TG 10 . & LD 282559

(e85 1.5 eonad, ed

Options:
Act as a convex lens only for the object that lie on its curved side.

1% DY), PESVAN DY &R )G QPG SI02TE7E SRSV D) BH

Act as a concave lens for the object that lie on its curved surface.

5> % DY), DESVDN DY) GA) )6 QPG ETFS°E SLSIVM DA DR

Act as a convex lens urrespective of side on which the object lies.

s o DY, D DD &) D\DS oS 3 SLSAT DI BB

Act as a concave lens irrespective of side on which the object lies.
L DD, D DY 63 D\BS YEFSE SLSINT DY B

4.
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Question Number : 94 Question Id : 8135611694 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements 1s false?

& S0 DIBDT LS’ VA Do GO ?

Options:
Momentum 1s conserved in all types of collisions

@) 650 DITrTVS GOFDAD00 DSBS Gt
1. %

Energy 1s conserved in all types of collisions

©) 65"V eoDIrarwes 28 QBB LT &0
2. .

During elastic collisions conservative forces are involved

; ﬂcp::ég“bs 9DATTOS” VDT oD WUrLD D BI 0N
. "

Work-energy theorem is not applicable to inelastic collisions

LIATDE DI’ HI-3S DTroho HBoWD
4. @ @ - Q =

Question Number : 95 Question Id : 8135611695 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A transverse wave along a stretched string has a speed of 30 m.s™* and a frequency of
250 Hz. The phase difference between two points on the string, 10 cm apart, at the same
mstant 15

28 BB )orbd” Hasreiod 28 YBTL Sbofidn Stfo 30 m.s™ LBty Yo
250 Hz. 10 em cir6:5008" 63 Bocd Dotk 68 8 Do’ (7 Bt dod?

Options:
1.% 0

[ 4
2. % 2

Question Number : 96 Question Id : 8135611696 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The potential at the centre of a hollow. charged metal sphere of radius 5 cm. so that the
potential on its surface 10 V. is

5 cm :1‘53"2:1.13 o 28 8533 &5’ Avaw g DBV TOJHS 10 V &olid.

&3 ¥ o 56 JTEA0DHES Jewsd

Options:
1.% 0V

, w10V
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Same as at point 5 cm away from the surface

- OB Ao 5 cm Brodw & (1o DoY) I TEIADS L VITHIW

Same as at point 25 cm away from the surface
, v SOBD B0 25 em GErGAw & o Dok HG TEJAES £ DATBH

Question Number : 97 Question Id : 8135611697 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An itrinsic semiconductor 1s:

‘r‘b_ga,?bea @gﬁ“:f’sn (SIS

Options:
Neutral

S0
1. @

Positively charged

, x GO DIFOIDXG

Negatively Charged
26 BIIJPOSIOIG

Sometimes positive and sometimes negative.
2,8).8), 8 3 0Bt 2.8 5) D 20800

4. %

Question Number : 98 Question Id : 8135611698 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The rapid changes in pressure and volume of an ideal gas under thermal 1solation are
governed by TP~2/5 = constant. The gas may be

ENLI0GS (DS’ BIG6\T050D) ED. XNBATEFOS’ 207 BB SrENVD
S ™% ) S )

ArDot) DEGeAD TP /5 = RO, & TV

Options:
monoatomic
1. D& DEATES J°03Y)

diatomic

) % A(DOAIEDS T7OI0QY

triatomic

3 % BDOATPEDS T°A30Y)

polyatomic
4 % BEVDOITENE TA0D

Question Number : 99 Question Id : 8135611699 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The meniscus of a liquid contained in one of the limbs of a narrow U-tube 1s placed between

the poles of an electromagnet with the meniscus in a line with the field. The liquid 1s seen to
rise to the line. This indicate that the liquid 1s

28 D) U FOS0S" 28 Trdmo d0g) H530308 8 m,gma%uam a0,
BTV 6] ES20 BFIS DAFSEINT GoTd. &8 THRAD & VFIS P8 TS
03 T30l

Options:

1. %
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Ferromagnetic
28 AT 0w

Paramagnetic

g oY) woﬁa&l’cém

Diamagnetic
s 5 GOIT 0D 0B

Non magnetic
@«R‘)Qi')ea"z’o@.‘ixn
4, %

Question Number : 100 Question Id : 8135611700 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When a light of wavelength 6328 A is incident on a slit of width 0.2 mm perpendicularly.
the angular width of central maxima will be

6328 A 8601300 (0 08 0.2 mm ey o 28 VIEH LowAIT D3
S0, SoBos (B dg) Erdah Dcieny Bewaw.

Options:
1. 0.36°
> » 0.18°

5 % 0.72°

4 % 0.09°
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Question Number : 101 Question Id : 8135611701 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following statement 1s correct?

308 DIBT S DB HOIHE?

Options:
Airplane works on Newton's laws of motion and Laser on Raman’s Effects

:ﬁJ"SE.J.5 (108 APTOD BEFPEIG TR0 DABOIVL) SOAKN TR Derdow Tabd

| OB,

Hydroelectric power 1s based on laws of thermodynamics and rocket propulsion on

Bernoulli’s theorem.

&IOS TRRPT U 2GS 38 dakw uﬁ"lb ArGos U738 (dde BTG,
2. ® e

Computers are based on digital logic gates while electric generators on Faraday’s laws of

electromagnetic induction.

G200 B6)TF0 BTGl SoP{R, FOE D@]Sm.?fbaé 200 ArgUR ES
5 o BR0LE e DB O.

Hydraulic lift on Pascal’s law and electric generators on Newton's law’s of motion.

)8 Ardo Brrsor erd8 D dan AP (3R ArgY Il JVES
4% 2RACLE DABALVAD.

Question Number : 102 Question Id : 8135611702 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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With rise in temperature. young's modulus of elasticity

e.gg@ 2BAS, Ega .g:as o300f (DEISAD

Options:
Decreases

SO
1.8

Increases
FaloblabPnb)

Changes erratically
| IRBRBOT BED

Remains unchanged
4 % SO

AP EAMCET 2020

Question Number : 103 Question Id : 8135611703 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The center of mass on combining two masses m and M (M > m) will be

m 8ok M, (M > m), @3(0-80e0 (0 Both SR0:u0 DY@, & % s

ngSU"? Solo GOCOR

Options:
Towards m

| % MDD

Towards M

2. M 209
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At the center of line joining m and M
- m 208030 M 0 s 8 206

At centre of mass of m
m GI0S), @.‘550"% Sofo DG
Q

Question Number : 104 Question Id : 8135611704 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Work done on (or) by a thermodynamic system 1s zero in which of the following processes?

08 &) DdaDe’ EQABS SN D 2O, Jgor SR 2028 D BP0 OHAD?

Options:
1sothermal
VT S

1. % £

1sobaric

1sochoric
oD

adiabatic
Bs

9

ov*

Question Number : 105 Question Id : 8135611705 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Equal volumes of hydrogen and oxygen gasses of atomic weights 1 and 16 respectively are

found to exert equal pressure on the walls of two separate containers. The rms velocities of
the two gasses are mn the ratio

1 08080 16 eeerde (o yga.S febloloniV Ué;)aiu TOIV AT IDBATEIS’
) 0. DB DB s’ B ©d I FEup HAFY DETD) ST an,
900N &8 Botd) TaIHY rms(:bg S agwuj DT Df’q_)e}

Options:
j, . B

2w 331

3 % 1232

in 32l

Question Number : 106 Question Id : 8135611706 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body moving along a circular path due to a centripetal force having constant
magnitude 1s an example of motion with

DEBArEI0 (10 BDSoGRIvo HOD w8 HWY HTTE A5goeS” t5othdtr IO
2 (TS GIETEe?

Options:
Constant speed and constant velocity

DGSE B DGDEAD
1. ® @®© @
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Variable speed and variable velocity
: w?gdém S o3 w?gdgm D850

Variable speed and constant velocity
wgd@é Se Hdasw i{gdéds&p

Constant speed and variable velocity

DOAE B3 9NGD DA
4. & @ @ =

Question Number : 107 Question Id : 8135611707 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

According to Bohr's theory of the hydrogen atom. the radii ,, of stationary electron orbits are
related to the principal quantum number n as

YN ggam DOATEDY) bg'nam) 257000 Ougm 2655.50 ;:"5&3"05) (1), TR

S(o0 P02 (n) & PoLolaw

Options:

;% T & (1/n%)
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Question Number : 108 Question Id : 8135611708 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two spheres of equal masses are attached to a string of length 2 m as
shown in figure. The string and the sphere are then whirled i a
horizontal circle about O at a constant rate. What is the value of the ratio?

(Tension in the string between P and Q ) I

(Tension in the string between P and 0)

D008’ BPR DGPorT 2 m TS0 SHE Bokd NATD BI[0rB0R0 (o Aoy 0208180,

0 568 36 8w ol ol A Bk A Vrod T dom Gl DIJNT.
900 Sob NANY QL0 oth?

P 0800 Q © ¢k S’ SR8 "

P £8a50 0 & Soc5{ S S8

Options:
1

1.8 %

Question Number : 109 Question Id : 8135611709 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The centre of mass of a ring 1s

&o(iCo QIS Q&.‘J}SU"? Sodo

Options:
Outside the material of the body. at the centre of symmetry.
_ DRADTGo L0, J0D Sodo HE.
1. *® - @ e o

Within the material of the body. at the centre of symmetry.
SADTGo & DO, J"ND Soo DEG.
PN A @® ) - @

Along a tangent of the ring.
, , GofiGo ), 36,80

Perpendicular to edge of a ring.
4% &ofiCo CQINS); VoDV Vor)olT

Question Number : 110 Question Id : 8135611710 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The coefficient of linear expansion of crystal in one direction 1s a;and that in every
direction perpendicular to it 1s @,. The coefficient of cubical expansion is

0578 ws B¥S° cle} TS LRSI a; TS Vot By Hiwe' ale} T8
(DRI @y R DBATE TS IS

Options:

1 % al‘l‘a'z

> % 2a, + a;
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3 ¢ 0 T 2a;

« @ +3a;

Question Number : 111 Question Id : 8135611711 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The kinetic energy of an electron which 1s accelerated through a potential difference
of 100 V will be

100 V IBQane5 Bcso $OAD Dot 06 (00 BodD VTS (1838 dod?

Options:
| % 6.626 X 10737

5, % 116 X 10*7]

s x 41867

4 o LEXI0*"]

Question Number : 112 Question Id : 8135611712 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The percentage volume of ice-cube outside the water when it 1s floating in water is
(Density of ice is 900 kg.m 3. Density of water 1000 kg.m ™)

QB 208 Soth) 208, BenddR) DY, A aHR) BBoD) Sot WM HBATE
FBA ( Sooth aBg), Fo@d 900 kg/m’. D8 aa0g), Fogd 1000 kg.m™)
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Options:
, % 20%
5 % 35%

2 v 10%

4% 25%

Question Number : 113 Question Id : 8135611713 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two small metal spheres A and B charged positively are separated by 2 m m air. The
force on a charge of +1 C placed on the line joining the centres of the spheres and at a
distance of 0.5 m from A is found to be zero. The ratio g4 : g of charges on 4 and B is

G E) s30T 3@5&559::11) SR Boch D) ' Aivren A Lodasw B en S’ 2 m

Brdod’ G ow. AE(EIIAD +1 € R Fotd v Sogrody s 3 A Avod. 0.5m

Brdod’ GoRRRYE TR LYo W) S8 T 6. 4 HHdakw B © P IdEdT
NS G4 Gp =

Options:

. %133

2.% 3:1

3. 9:1

4.v1:9
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Question Number : 114 Question Id : 8135611714 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body of density d, 1s counter poised by M g of weights of density d, in air of density d.
Then the true mass of the body 1s

d Fotsdh 508 S’ d; Foded SOAN 28 erriaw d, Fodd SOA M g 2w AN

DTS PAANS DATHANT GodeEHB. 3 el oqs), QRTOA ododh?

Options:
1.8 M

Md,(d,—d)
dx(dy—d)

4. &

Question Number : 115 Question Id : 8135611715 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A conductor carries a current of 300 mA. The number of electrons passing through 1t m 1
minute are

28 TirSo 300 mA DAXS & SBFTRW. 1 ADE” HIToB VTR Vo)
Options:

1.125 x 107

1. 8
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- 20
5 w128 5

3 x 1125 x10%

1025
i« B2E X0

Question Number : 116 Question Id : 8135611716 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two projectiles A and B are projected with the same iitial speed. A 1s launched at an angle
¢ with the horizontal and B at an angle ¢ with the vertical. If A has a range R, and B has a
range R,. then

A 20808 B 93 HEIS 08 rfed HED0 BRI A £82 VAredded ¢ Sto, B
£0uvoned ¢ Ero SBNGT) . 4 T Ry 200080 B TR R, w008,

Options:

1% R, = 2R,

5 % R, = 0.5R,
3 o Ry = R;

4 % R, = 0.25R,

Question Number : 117 Question Id : 8135611717 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

12 uF

In the circuit diagram shown in the adjoining figure, the 1

resultant capacitance between P and Q 1s

306 DOAE' P SVabans’ P HHBekw ( ©

508 33D09) Jevd Qs } |

20uF

Options:
1 % 47 uF

Question Number : 118 Question Id : 8135611718 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A simple pendulum oscillates harmonically about x = 0 with an amplitude A and time period

T.Itsspeedatx = A/2 1

A Eod 5008, T €390/ 5P A x=0 ;ﬁg 28 VAN VEAD DOV W@é&i&» mw
EoTen SR008. Land x = 4/2 3¢ oD S

Options:

A3
1. ¢ T

2. %
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nA\3
3 % 2T

3m2A
4. % T

Question Number : 119 Question Id : 8135611719 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the moon 1s to escape from the gravitational field of the earth forever. 1t will require a
velocity

e MHHS] E830 W FHB DTPEHVAN Do Bo@HS SV i

Options:
1 = 11.2 km.s™?

less than 11.2 km.s™ 1
-1
5 11.2 km.s™* 808 S8 S

slightly more than 11.2 km.s™!

5 x 11.2 km.s €063 DEN D

4 % 224km.s™*

Question Number : 120 Question Id : 8135611720 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Point charges each equal to +q are placed at the vertices of an equilateral triangle of side “[".

The net force on a charge g, placed at the circumcentre of the triangle 1s

Dotk DOAres AEEITL 28] )8 +q 0 [ Zoadw o Szbadw %g‘u 96 Gomrd.

Gaionin D838 o 3¢ &odd 18 DEETBAN g, P VS LAY BeoHiw.

Options:

F— 1 (3qq1)
1 % 4meg \ 12

o 1 (QQ1)
2 ® 4mreg 312

3 vF=0

1 /2
- (52)
4. % dmreg \ 31

Section Id :

Section Number :
Mandatory or Optional :
Number of Questions :
Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :

Chemistry

81356135
4
Mandatory
40

40

Yes

Yes

Yes
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Question Number : 121 Question Id : 8135611721 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Using Bredig’s arc method. which of the following metallic sols cannot be prepared

80 o0 ::gaes‘* S08 RIEA ) &I QNG §'ir Y A Soird) SoHTan?
Options:

Silver
1. % Dot

Sodium

Platinum

3 % é“é?)&')o

Gold

4 % Worrdo

Question Number : 122 Question Id : 8135611722 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
NH; + NaOCl —?

Options:

. » NH,0H

, « NH,CI
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, o NH, — NH,

Question Number : 123 Question Id : 8135611723 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following elements has the most negative electron gain enthalpy?

308 Arostoes’ 33 OB(BS 206 JVT"S T D"@eb &otod?

Options:

. % [Ne] 3s? 3p?

, % [Ne] 3s? 3p*

, o [Nel 3s2 3p°

4w [Ne] 3s2 3p"

Question Number : 124 Question Id : 8135611724 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statement 1s incorrect from the view point of molecular orbital theory?
a) Be, 15 not a stable molecule
b) He, is not stable but He* is expected to exist

¢) Bond strength of N, is maximum amongst the homonuclear diatomic molecules belonging
to the second period

d) The order of energies of molecular orbitals in N, molecule is
02s < 6'2s < 02p, < (anx = ;rr2p},) < (H*pr = H*Zp},) < a'2p,

0180 0,676 NETodo %Q‘,g S08 PINTY" 1O A 2B?
a) Be, ?gda}am 80 54
b) He, 263w s°ch, 50 He®* éobod © &rDotdidtidy
c) Dot HBDE § Bodd 1arSos ot AOOSrES BYVS’ N, o WS BIBSAY

d) Ny xR aios), e 8derd) CEERVRW

g2s < ¢'2s < a2p, < (-anx = anJ,) < (n*pr - H‘Zp},] < a'2p,

Options:

g

Question Number : 125 Question Id : 8135611725 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Products P and Q in the following reactions, respectively are

308 ::36506‘ SV P’ 208080 ‘Q’ &Sd) 0 BVDC.

OH OH
Zn NaxCnO7
> P > B
Heat H>SOq4
&R0
Options:
P: Cyclohexane Q: Benzoquinone
_ P: 28 >89 Q: Bo&'3(SD
1‘ *~ — ]
P: Cyclohexene Q: Cyclohexenone
~ P: 28 A Q: DE ASD
2 R T id & e =]
P: Benzene Q: Cyclohexanol
P: 8083 Q: DE >SS
3. R o ]
P: Benzene Q: Benzoquinone
v €02 Q: ﬁnﬁ’éss.s

Question Number : 126 Question Id : 8135611726 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The role of catalyst in a reversible reaction 1s

28 B (edaoriod) woes” ad)dso g
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Changes the entropy of the reaction

€96 oL BTN

Increases the rate of forward reaction

BT 56 Ben Dot

Reduces the time required for reaching the reaction equilibrium state

RIe DT DD :)dbc:.ms; DD 5T St
3. ¢ @® & 0

Decreases the rate of reverse reaction

A8 eSSy Sy Shocie
4. 0N

Question Number : 127 Question Id : 8135611727 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a face cantered cubic arrangement of A & B atoms where 4 atoms are at the corners of
the unit cell and B atoms are at the face center. two A atoms are missing. The simplest
formula for this compound 1s

28 DVS $08 ANTTE (FCC) 9:0055° 4 DEATEN)0 0P 2 Arovdr B
DOATEDD)LN DVS SomPORAT 350tVI. 906 Totd A DEATEN)L) & o).
0B, & V0L FHINL O DOFAD &d)éer

Options:

1. 8 A'?BZd-

3 ¢ AB,
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Question Number : 128 Question Id : 8135611728 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The structure of Marshall’s acid among the following 1s

$0BT°VS” G o V) JT7YET) BVDOC..

Options:
0O O
HO /S S\ OH
O/ \O
| 0O O
O O

HO— 8 —OQ—O—% —()H

| |
2. O O

HO = == ==H

HO—S—0—S—OH
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Question Number : 129 Question Id : 8135611729 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find the electrode potential for given half-cell reaction given below at pH = 4.

2H,0 —— 0, + 4H™ +4e”, Efea =1.23V (GivenR = 8.314 .k .mol ™.

Temperature = 298 K. Oxygen 1s under standard atmospheric pressure of 1 bar)

2Hy0 — 0, +4H* +4e7, Epyy = 1.23V. & &56(% pH = 4 3¢ J0EE TOJaHS
dod? (Ggroddw: R = 8314 1K ".mol™, &' = 298 K, 580 Hares
TTH08 DEIR 1 er6 3¢ &) 6)

Options:

, »—0.99V

3 % —1.01V

4w —123V

Question Number : 130 Question Id : 8135611730 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If solubility 1s represented as 'S’ mol/litre and solubility product as K, .the relation

between the two for Zr;(P0,), is

Eratons & 'S ar6/Dus & Sdaw mradabe vgrd) K, & ardy, Zr(P0,), &

o) mﬁé Nototo

Options:
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Question Number : 131 Question Id : 8135611731 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Air

MnO, + KOH

md

MnOz + KOH

Options:

1 % M?1304

> w KMnO,

3 ¥ KzM?IO,_t

4 % Mﬂ(OH)z
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Question Number : 132 Question Id : 8135611732 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements is false?

a) BiCls does not exist
b) Ammonia 1s a Lewis base
¢) SF; has square planar shape

d) BF; has zero dipole moment

$0d HDIBVT VS’ DB VB =R ?
a) BiCls % &8 T
b) es:ﬁré.bo:ir 28 QP BP0
¢) SE, S306R S0 35760 $OH Gotnod
d) BF; &GOS P0SA0 B0PR00

Options:

1. % @

Question Number : 133 Question Id : 8135611733 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following pairs exhibit diagonal relationship?

So0d 205’ €6 DooGH Wrdd DA?

Options:
1 % Li,Na

, o Li,Mg
3 x Mg,Al

4. % BE,B

Question Number : 134 Question Id : 8135611734 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The monomers of Terylene are

£893 &° o ArT G Bedd.

Options:
Phenol and formaldehyde

Hce) Sodain &U"éggé

Ethylene glycol and phthalic acid
289D A5 28k S esvo

Adipic acid and hexamethylene diamine
. DEDE 5o SBakD S EOD ZIDDS
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Ethylene glycol and terephthalic acid

200D 05°¢5 280k SIS esvo
4.9 z

Question Number : 135 Question Id : 8135611735 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The molecular formula of malachite ore 1s

SOFE LY MBS eV _S*’cbéer
Options:

1 ¢ CH(OH)Z.C'H.CO3

2 % Mn.304

5 % Nids

4 % F6’304

Question Number : 136 Question Id : 8135611736 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following can be considered as the definition/principle of energy?

808 T0" BID 3§ ), BWIZMT DB ?

Options:
First law of thermodynamics
- &QABS TR0 DL Do

¢ e
AP EAMCET 2020 _
collegedunia:s

India’s largest Student Review Platform

el



AP EAMCET 2020

Second law of thermodynamics
 &RASS TR0 Tobl DoR&S0EW
2 % 6 =

Third law of thermodynamics
L GRADS TP00 HorE DSV
3 & £9 <=

4 % AG = AH —TAS

Question Number : 137 Question Id : 8135611737 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Formaldehyde reacts with concentrated alkali to form

e 3608 Fo7) il wo(Tob ALNCCEY

Options:
A resimmous mass
s S0t B350

A mixture of methanol and a salt of formic acid

- DBIS 2Bk w8 JBE LY VS0

Formic acid
a“ﬁéé e3:)0
3. % o

Methanol
4 % OIS
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Question Number : 138 Question Id : 8135611738 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The internal energy of one mole of an ideal gas is given by the expression

SoBTS" w8 AT 66, TAY IS), WoBdS 35 WD B?
Options:

3
=¥
fuoal o8

1
___?kT

1
— RT

e 2

3
— kT
s D

Question Number : 139 Question Id : 8135611739 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An aqueous solution consists of Pb%* and Cu®* ions. Which of the following reagents is
suitable for the separating them?

Ph** 0805w Cu’" easrden (o 20 Frdmed” Boirdm S BaEAS & Brid
SE5VE° IB EDOrHNE?

Options:
NH4N03 ({Tg)
1 % NH,NO; (20)
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Diluted H,S0,

, o a0 H,S0,

Diluted st
w RO H,S

Concentrated HNO;

Question Number : 140 Question Id : 8135611740 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many primary amines with empirical formula C,;H{N are possible?

CyHy N 020278 &d)évéo £9A V) ?gmé ab;@ Ro2Td(a00?

Options:
1.% 3

2.v 4

Question Number : 141 Question Id : 8135611741 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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What product 1s formed when HF reacts with glass?

TS HF 6] JoBIDE B & &) H0 87?

Options:
1« SiF,

, « HySiF,

3 % NagAlFG

4 % H2Si0;

Question Number : 142 Question Id : 8135611742 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The major product of the following reaction 1s

NaNH,
CH, = CHBr , P
Red hot 1ron tube, 873 K
D :66595" OBEIDTT DENED Sy D)
NaNH-
CH, = CHBr » P
DEFT DEDODEE VD
e, 873 K
Options:

- CH =CH—-CH=CH-C=CH
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Question Number : 143 Question Id : 8135611743 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following shows most affinity towards haemoglobin?

SoBTS" FAFHAS DY B0 I (S6] TowLL) H8) D) Brdd IB?

Options:
b0 % €O,

Question Number : 144 Question Id : 8135611744 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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. . , 1 3 —
If the value of K, for the reaction . N, + 2 H, = 2 NH; 1s found to be 100 atm.
calculate AG® at 298 K.

1 3
?Nz + ?Hz = 2 NH; 96 K, Qe 100 atm eond. 298 K S AG® R (iedotdod.

Options:

, % 1142 kl.mol™

, » —11.42 kJ.mol™

3 % 9.71 kl. mol™*

4 % —5.71 kl.mol™

Question Number : 145 Question Id : 8135611745 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following vitamins is water-soluble and can be stored in our body?

308 T3¢, DeIeS® S8R D 366065 Jewsd BoDHeEnw DD DA?

Options:
Vitamn B,
i o DD By

Vitamun Bg

5 % 200 Bg

Vitamin B,

5 % DS B,
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Vitamin B,

4 % D05 B,

Question Number : 146 Question Id : 8135611746 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements about hydrogen 1s incorrect?

a) Hydrogen never acts as cation mn 1onic salts
b) Hydronium ion. H;07 exists freely in solution
¢) Dihydrogen does not act as a reducing agent

d) Hydrogen has three 1sotopes of which protium 1s the most common

TERS D Dotoot) & BHD HIVT VY’ D& By ?

a) ©OIrdS VITLY’ FERS SO T HIGodE

b) TITYS” EACHID GAIrS H30™ DT Goom

¢) Ear&ad $aHsdmr HABOHE

d) >EBD D Arcd :amgvbo:sym §09). TOS° HETHWHE Tt

Options:

% @

2.;‘iéb

3. ¢ €
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Question Number : 147 Question Id : 8135611747 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the number of sulphate 1ons present in 100 ml of 0.001 M H,50,?

Options:
| 6.022 x 10"

, % 6.022 x 10*°

3 % 3.011 x 10%

4 % 3011 x10%%

Question Number : 148 Question Id : 8135611748 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Calculate the concentration of the 2% (w/w) NaCl solution in terms of molality.

2% (w/w) NaCl grodmsw aing) mEdy 2rerdie” didood.

Options:

1 % 0.7m

> 0.34m

3 x 0.17m
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Question Number : 149 Question Id : 8135611749 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In diborane are present
Ges’on &° &) D
Options:

4 bridged hydrogens and 2 terminal hvdrogens

| x 2 TOO TEAW. 2 wod TEBR

2 bridged hydrogens and 4 terminal hydrogens
, 2768 FESL. 4 wod| FEB

3 bridged hydrogens and 3 termuinal hydrogens

L x 3708 TEB. 3 Wody EIW

2 bridged hydrogens and 2 terminal hydrogens

x 260 TEB. 2 wod| rESH

Question Number : 150 Question Id : 8135611750 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The correct statement regarding H; P05 and H; PO, among the following is

H3 P03 08050 H;P0, 0% dotioBow) $oBT°S” DBADN DOtidaw 28&?
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Options:
H; PO, 1s tribasic and 1s reducing
_ H3P0;3; 8=6T°(Qy 2E0 LA B & £00806e3

H3 P03 1s tribasic and is non-reducing

5 % 3P0; @EOG"SQA ‘Qdﬁgmﬁ)m 200050 9 L00S0ES ST

H; PO, 1s tribasic and is reducing
3P0, S=OT() DE0 10O HBAS ) Lobssed

3, %

H;P0j; 1s dibasic and reducing
4 o 13P03 B5T0E7(D) HAB 10w 080k e Lohsded

Question Number : 151 Question Id : 8135611751 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Among the following aryl halides. which one will react fastest with diluted NaOH at high pressure
and temperatures?

RS & e DT 3¢ 393 NaOH & $08398° D o6 ok 008 SO W6[ Jot?

Options:

1% CcH: — Br
2. v Cells —1
3 % Ce¢Hs —F
4 % CeHs — Cl
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Question Number : 152 Question Id : 8135611752 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements 1s correct?
a) Neither pure H,50,. nor pure HClO, nor their mixture can conduct electricity
b) Electrolysis of 50% H,S0, (cold) produces H, . 0, at cathode and anode respectively
¢) DC current 1s used for conductivity measurement

d) Graphite 1s better lubricant on earth than on the moon

308 DIVT LG’ B WO oI ?
a) % H,50,, %8 HCIO, e T8 A3 B DB HRBoDBADY)

b) 50% 50 HyS0, Graesn JEFRG’ 86 20000 86 © 96 ST
Hy 208080 0, © &89 BT

¢) 3@5@’5@565;&» §auts) DC D@éé TET

d) 5 B0 Q0e Sotd ZPRd A H0t) SoBRMT HABAVAD

Options:

R R
2. % b

3.# €

Question Number : 153 Question Id : 8135611753 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following conditions is suitable for electrophilic addition reaction over an alkene?

$06E" D DORS esbl,@ D JOEHBE Rosv LS IHEIW?

Options:

1

X

3. ¢

. Hy,Pd/C

% HBr " (CGHS == CO)2 02

Br, /CCl,

4 % KMnO, J/HY

Question Number : 154 Question Id : 8135611754 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a reaction to be spontaneous at all the temperatures, what are the required thermodynamic

quantities?

*"’51 egﬁgeu S 28 t36] V(oG 287HedS) SIVID eg“ﬁas DO BVDE.

Options:

1%

2, %

3.+

A,.G

A.G

A.G

Il

+ve; A H= +ve; A,.S = +ve

—ve; A H= {+ve; A.S = —ve

—ve; A, H= —ve; A.S = tve
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4 % A.G= Hve; ALH= —ve; A.S = t+ve

Question Number : 155 Question Id : 8135611755 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The effective nuclear charge for an electron in n = 2 shell in a fluorine atom. calculated
according to Slater’s rules will be

206 DaDATVBA) BRVHBD) TBS DEAFEY) AE), n = 2 $4(6° IS Sogss

e.a;‘w!)l 6§bmﬁad.

Options:
1. % 85

, » 68

Question Number : 156 Question Id : 8135611756 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A 1000-Watt bulb emits a monochromatic light of wavelength 400 nm. Calculate the
number of photons emuitted per second by the bulb.

28 1000-3°6 © Jekoy@de 400 nm © Boigg.o o 28 56 5703 &ErGo B B. &

Aot 2,8 VWS DLGVOD]| JErd Do Aitdorsoc
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, % 201 x10%° 57

1N20 -1
5 @ ROARR T 5

1020 -1
. % 10.06 X 10%° s

4 » 300 X 10%% 71

Question Number : 157 Question Id : 8135611757 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following graphs represents Charle’s law?

$0BTVS” O QDAY APDotd T AT~ Y

Options:
T2
‘\T"
1. % 1
\%
3. %
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logV \

log T

4. %

Question Number : 158 Question Id : 8135611758 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Calculate the percentage by weight of oxygen in a mole of water?

28 S AOS® 882D TET o (edotiod ?

Options:
1.« 88.79 %

, % 80.00%

3. % 75.00 WD

4 % 60.75%
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Question Number : 159 Question Id : 8135611759 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Name the process which leads to the formation of RNA from DNA?

DNA &dod RNA o0t 8oy H8) Soé.

Options:

Mutation

- .masé.’jaS

Transcription

;_!.;‘5’35,%35

2. %

Replication
5w O025&D
Translation

4 o TTD

Question Number : 160 Question Id : 8135611760 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Maximum deviation from ideal gas behaviour, among the following. is expected from

$0BTS’ 5636, T0H0 DG AdoC. (B MSVDI BrDHE A8?

Options:

1. % H3 (g)

5> % N2(g)
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3.%

4.

CHy (g)

NH; g
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